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QUESTION 1

Click the Exhibit button.
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You have a FAS8200 HA pair with disks that are evenly split between nodes A and B. When a disk fails, the
replacement disk must automatically assign back to the originally assigned controller, A or B. Referring to the exhibit,
which disk auto assign policy satisfies this requirement?

A. shelf

B. stack

C. default

D. bay

Correct Answer: A

QUESTION 2

In which version of ONTAP did the NVMe protocol become available for SAN environments?
A. 9.4

B.9.5

C.9.3

D.9.2

Correct Answer: A

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2495115
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QUESTION 3

As an administrator, you are asked to enable deduplication on volumes that are separated by workloads
on a FAS8200 system.

On which volume would you see the highest savings from enabling deduplication?

A. home directory shares

B. virtual desktop environment

C. file share

D. SQL database

Correct Answer: B

QUESTION 4

How would you protect a NAS SVM root volume?

A. Create a SnapMirror copy of the root volume to a peer cluster.
B. Create load-sharing mirrors.

C. Create a backup of the SVM configuration.

D. Create a backup of the SVM root volume.

Correct Answer: B

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2496241

QUESTION 5

Which NetApp product enables you to leverage legacy storage investments?
A. FlexClone

B. FlexGroup

C. Cloud Volumes ONTAP

D. FlexArray

Correct Answer: C

QUESTION 6
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Which failover policy is set by default on an iSCSI LIF?
A. local-only
B. broadcast-domain-wide
C. disabled

D. sfo-partner-only

Correct Answer: A

QUESTION 7
Click the Exhibit button.
Platform Model Maximum Nodes (NAS) '] Maximum Nodes [SAN) ']  Min ONTAP Version for Platform Mixing

3 Fabric Attached Storage ~ Current Models

“F-‘-SZ&U 24 Nodes 12 Nodes 8.3
FAS2650 24 Nodes 12 Nodes 23
FASE200 24 Nodes 12 Noces 93
FASS000 24 Nodes 12 Nodes 9.3

3 All Flash FAS — Current Models

3 Fabric Attached Storage — Legacy EOA Models

_FI-_S-ZSL’Q 4 lodes 4 _l'iodts | _9 3
FAS2552 8 Nodes 8 Heodes 8.3
FASZSS4 & Nodes & Nodes 9.3
FASE020 24 Nodes 12 Nodes 8.3
FAS2040 24 Nodes 12 Nodes 9.3
FASE060 24 Nodes 12 Nodes 8.3
FASEQED EX 24 Nodes 12 Nodes 83

3 All Flash FAS — Legacy FOA Models

Fooltnotes
Notes ID =  Hotes Description
1 Haxmum number of nodes within a cluster is determined by platform which supports the fewest number of nodes

A storage administrator has an existing FAS2554 HA pair. They want to add a new FAS2620 HA pair to
the cluster. The SAN protocols are licensed.

Referring to the exhibit, after adding the second HA pair, how many more nodes are available to add for
future use?

A 4
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B. 12
C.8
D.2

Correct Answer: A

QUESTION 8

Click the Exhibit button.

Ierver Interface Admin/Oper Addreas/Mask Neode Port Home HBele
CDOTS93 CDCTS3-01 mgmtl up/fup 192.168.134.162/249 CDOT93-01 elid true node-ngmt
CDOTS93-02 momtl up/up 192.168.134.163/29 CDOT33-02 eld true node-mgmt
cluster_mgmc up/up 192.168.134.161/24 CDOT33-01 edd true cluster-mgmc
Cluster
CDOTS3-01 clusl up/up 169.254.246.126/16 CDOT33-01 ela true cluster
CDOT83-01 clusaz up/up 169.254.246.136/18 CDOTS3-01 elb true cluster
CDOT83-02 clual up/up 16%.254.65.154/1¢ CDOTa3-02 ela true cluster
CDOTS3-02_cluaz up/up 60.254.62,164/1¢6 COOTS3-02 elb trus cluster
InterCluster
CDOT93-01 icl up/up 192.168.134.200/24 CDOT33-01 ele true intercluater
CDDI‘BS—DZZi-:l up/up 192.168.134.201/24 CDOT33-02 ele true intercluster
SV
CDCTE23-01 up/up 192.168.134.100/24 CDOT93-01 elf true data
CDOTS3-02 ap/up 192.168.134.201/24 CDOT23-02 elf true data

An administrator needs to configure ports for peering. Referring to the exhibit, which ports should be used?
A. CDOT93-01:e0a and CDOT93-02:e0a

B. CDOT93-01:e0e and CDOT93-02:e0e

C. CDOT93-01:e0d and CDOT93-02:e0d

D. CDOT93-01:e0f and CDOT93-02:e0f

Correct Answer: D

QUESTION 9

What is the purpose of Epsilon?

A. to monitor cluster health

B. to be used as a load-balancer for a 2-node cluster
C. to evaluate the differences in node configurations
D. to be used as a tie-breaker for a cluster quorum
Correct Answer: D

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
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sag%2FGUIDEFE1DEF4-8B87-4C4A-8E4E-C6C79F760710.html

QUESTION 10

Which management tool would you use to deploy a new instance of Cloud Volumes ONTAP?
A. OnCommand System Manager

B. OnCommand Unified Manager

C. Cloud Volumes Service

D. OnCommand Cloud Manager

Correct Answer: D

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2645523

QUESTION 11

What are two client specifications for an export rule? (Choose two.)
A. 192.168.100.0/16

B. 192.168.100.0/0

C. 0.0.0.0/16

D. 0.0.0.0/0

Correct Answer: AD

QUESTION 12

What are three reasons to implement FabricPool? (Choose three.)
A. to shrink secondary storage

B. to implement storage efficiency features

C. to move volumes to external capacity tiers

D. to use the volume backup feature

E. to reclaim space on primary storage

Correct Answer: ABE

Reference: https://www.netapp.com/us/media/tr-4598.pdf
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QUESTION 13

Which command would you use to enable the ONTAP HA feature?
A. storage failover modify -enabled true -node *

B. cluster ha modify -configured true

C. cluster ha modify —configured false

D. network options switchless-cluster modify true

Correct Answer: A

Reference: https://library.netapp.com/ecmdocs/ECMP1367947/html/GUID-
C7459FF5-75AD-4383-94B5F18C9E7B09A9.html

QUESTION 14

A customer has four or more nodes in a cluster. More than four target ports are being used by the SVMs in
any node. The customer wants to limit the number of paths that can be used to access LUNs on the nodes,
so that the paths do not exceed the recommended maximum of eight.

In this scenario, which three actions will accomplish this task? (Choose three.)

A. Use ALUA protocol.

B. Use multipathing software.

C. Use port sets for iSCSI.

D. Use Selective LUN Mapping

E. Use FC switch zoning.

Correct Answer: CDE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-sanconf%
2FGUID-133F725D-6EE4-4ACF-8352-73E731B7CFD9.html

QUESTION 15

You are running a FAS8200 system with ONTAP 9.5 with a Flash Pool aggregate. You have an SVM root
volume and two volumes (Voll and Vol2).

In this scenario, which two caching technologies would be applied to which volumes? (Choose two.)

A. Flash Pool can be applied to all volumes including the SVM root volume.

B. FlashCache can be applied to all volumes including the SVM root volume.

NS0-160 VCE Dumps | NS0-160 Exam Questions | NS0-160 Braindumps 7/8


https://www.certbus.com/ns0-160.html
https://www.certbus.com/ns0-160.html
https://www.certbus.com/ns0-160.html

www.CertBus.com https://lwww.certbus.com/ns0-160.html
CE RTBUS 2024 Latest certbus NS0-160 PDF and VCE dumps Download
C. Flash Pool can be applied to all volumes except the SVM root volume.

D. FlashCache can be applied to all volumes except the SVM root volume.

Correct Answer: AB
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